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Chapter 6
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The last four chapters have been spent looking at the balance sheet and income statement and how
to use them. In this chapter, we will move on to arguably the most revealing piece of financial
information that a company gives investors - its cash flow statement.

When a company’s financial results are talked about in the news you’ll find that a lot of emphasis will
be placed on its profits and maybe whether the dividend has been increased. After all, profits are
what matters, right?

To an extent, this is true. But cash is part of the lifeblood of any business. There have been numerous
past examples of companies that seemed to be very profitable but were teetering on the edge of
bankruptcy because they couldn’t turn those profits into cash fast enough.

That’s why cash flow statements are really useful for investors. They show you where cash comes in
and goes out of a company. If you want to really understand a company’s finances then you need to
look at its cash flow.

In many ways, profit is based on opinions relating to the treatment of costs and revenues. This means
that they can be manipulated to make a company look like it is doing better than it really is. Cash flow
is much harder to fudge over the long run and that’s why it’s a good idea to know something about it.
SharePad will show you the way.

Why profits and cash flow are not the same number

If you remember when we talked about profits and the income statement, one of the most important
things to understand was how they are calculated.

Profits are calculated on the basis of accruals or matching. This means that a company’s revenues and
the costs of generating them are matched against other and recorded when a transaction takes place.
This does not tell you when cash came in or went out of the business - the flow of cash or cash flow.
They usually don’t happen at the same time.

This means that for most companies, its profits will never be exactly the same as its cash flow. There
are lots of reasons why this is the case but I'll give you three quick examples now:
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1. Depreciation - this is an expense in the income statement which matches the cost of a
tangible fixed asset against the revenues it produces. It reduces the amount of profit a
company makes in a year. However, it is not a cash flow. The actual cash flow happened when
the company bought the asset being depreciated which could have been a long time ago.

2. Sales on credit - Customers are often given a period of time to pay for the good and services
they buy from a company. This sale will usually be booked in the income statement before
the cash is received.

3. Purchases on credit - Similarly companies may buy supplies on credit. These will be expensed
in the income statement sometimes before the bill has been paid. Also, companies can pay
for supplies in advance (a prepayment) which means that cash has flowed out of the company
before the costs of supplies has been expensed in the income statement.

The bottom line for companies and investors is that cash matters. It is needed to pay things like bills,
wages, interest on borrowings and dividends to shareholders. Investors can use it to spot aggressive
accounting by comparing profits with cash flows over a period of time. It therefore pays to spend
some time looking at a company’s cash flows.

Tesco’s cash flow statement

Tesco’s cash flow statement taken from SharePad is shown below. It shows the company’s cash flows
for the last five years. If you wanted to do a study of its cash flows over a longer period of time then
SharePad will allow you to go back as far as 1991.

sco PLC (TSCO)

= Prev  Next=# 2010 2011 22 2013 2014
Fiscal period ending 27r2na 2602M 251212 23213 22124
£ milions unless stated Q4 IFRS Q4 IFRS Q4 IFRS Q4 IFRS Q4 IFRS

CASH FLOWS

Operating cash flow

5,047 3, 3,873 4,

Taxation (512.0) (750.0) (7459.0) (579.0) (635.0
Met cash from operations 5435.0 4 881.0 4 535.0 3,254.0 3,681.0
Capital expenditure (tangible) (3,018.0) (3,551.0) (3,708.0) (2 0987.0) (2,881.0)
Sale of fixed assets 1,824.0 1,908.0 1,141.0 1,351.0 570.0
Acguisition of businesses (69.0) (263.0) (114.0) (230.0) (25.0)
Sale of businesses - - - 25.0 51.0
Intere=t received - - - - -
Dividends received - - - - -
Other (614.0) 45.0 (202.0) 1,5963.0 (579.0)
Met cash from investing (1,877.0) (1,859.0) (3,183.0) (278.0) (2,854.0)
Mew =hare issues 167.0 52.0 59.0 57.0 52.0
Share buyback (24.0) (31.0) (303.0) - -
Mew borrowing &21.0 2133.0 2.860.0 1,788.0 3,085.0
Repayment of borrowing (3,601.0) (4,153.0) (2,720.0) (3,022.0) (1,912.0)
Equity dividends paid (968.0) (1,081.0) (1,180.0) (1,184.0) (1,189.0)
Dividends paid to minorities (2.0} (2.0} (3.0) - -
Interest paid (690.0) (514.0) (231.0) (457.0) (495.0)
Other - - (39.0) (4.0} -
Met cazh from financing (4,207 .0) (3,650.0) (1,857.0) (2,822.0) (440.0)
Net change in cash (739.0) (628.0) (141.0) 1940 387.0
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You may not want to do this with Tesco, but for some companies this can be a very useful thing to do.
For example, you might want to learn more about how a company’s cash flow behaved during an
economic boom or a recession.

Tesco’s cash flow statement in SharePad is disclosed in a format that is typical for all UK companies.
US company cash flow statements are put together in a very slightly different way. I'll show you one
at the end of the chapter. They contain broadly the same information as UK cash flow statements and
can be used in the same way.

A cash flow statement is broken down into three main bits:

o Net cash from operations - This shows how operating (or trading) profit is turned into
operating cash flow.

e Net cash from investing - this looks at the cash flows from buying and selling assets, buying
and selling businesses and any interest and dividends received.

e Net cash from financing - this looks at how a company raises money such as new share issues
or new borrowings. It also looks at money spent on paying back loans or repurchasing shares
as well as paying for the cost of loans (interest) and shareholder finance (dividends).

These three sources of cash flow are then added together to calculate the change in a company’s
cash balance over the year.

Let’s look at each of them separately.

Net cash from operations
Here we see how Tesco converts its operating profit into operating cash flow.

Tesco PLC (TSCO)

#=Prev  Mext=» 2010 201 22 2013 2014
Fizcal period ending 2720 28121 250212 232013 F22M4
£ milions unless stated 04 IFRS 04 IFRS 04 IFRS 4 IFRS (4 IFRS

CASH FLOWS

Operating cazh flow 5.947.0 5.641.0 5683.0 4,316.0
Taxation -512.0 -760.0 -T49.0 -635.0
Met cash from operations 5,435.0 4,881.0 4 .939.0 3,681.0

What happens is that any expense - such as depreciation - which reduced operating profit but did not
see cash flow out of the business is added to the operating profit number. Any income that did not
cause cash to come into the business is taken away from operating profit.

The main adjustments that you are likely to come across and how operating profit is adjusted to get
to the operating cash flow number are:
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Depreciation - add back

Amortisation - add back

Profit on disposals - take away

Losses on disposal - add back

Increases in sales made on credit (change in debtors) - take away.
Decreases in sales made on credit - add back

Increases in purchases made on credit (change in trade creditors) - add back
Decreases in purchases made on credit - take away

Increases in stocks or inventory - take away

Decreases in stocks or inventory - add back

Amount paid into pension fund is more than pension cost expensed in the income statement
- take away

e Amount paid into pension fund is less than pension cost expensed in the income statement -
add back

That's a fairly long list, but hopefully after you’ve looked at a few cash flow statements you will be
able to understand how a company is - or isn’t - generating its cash.

How does Tesco’s operating cash flow stack up?
We'll talk about analysing cash flow statements in more detail in the next chapter. But first, let’s look
at the make-up of Tesco’s operating cash flow in SharePad for 2014.

The first thing to notice is the large figure for depreciation and amortisation that is added back. This is
a big source of cash flow for a company like Tesco which owns lots of tangible fixed assets such as
supermarket buildings and fixtures and fittings.

It has made profits on the disposal of assets of £232m which was included in operating profit. This has
not caused cash to flow into the business from trading (buying and selling things) and has therefore
been taken away. The cash flow from selling the asset will be included in the investing cash flow
section.

£983 million has flowed into the business from changes in working capital. If you want to find out why
then you can go to Tesco’s annual report and see. What's significant though is this management of
stocks, debtors and trade creditors is a very meaningful source of cash for Tesco.

You can also see that it has been a trend in previous years. This mainly comes from the fact that sales
have been growing and more supplies are on credit so creditors increase. Without it, Tesco’s cash
flow performance would be a lot worse than it is. One question to ask here is: Is this source of cash
sustainable if Tesco’s sales stop growing in the future.

After all the adjustments have been made, Tesco produced £4.3bn of operating cash flow in 2014
compared with an operating profit of £2.6bn. However, look back a few years and it was generating
nearly £6bn of operating cash flow back in 2010.

What's caused this big fall?
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By looking at the line items of the operating cash flow calculation you can see:

1. The business is less profitable. Operating profit is £826m lower.
2. Working capital cash inflow is £278m lower.
3. Other cash operating cash flow items are £850m lower.

You should find many of the reasons for these declines by reading Tesco’s annual reports.

Net cash from investing

This section shows how much money a company is spending on its business and how it may be
bringing in cash as well. It can do this by investing in new assets (known as capital expenditure or
capex) or buying new business (acquisitions). Money can be raised by selling assets or businesses. You
are also shown the money coming into the business from interest on bank accounts and dividends
from investments in other companies. Any other cash flows from investing are in the “Other” row.

Tesco PLC (TSCO)

#=Prev HMNext=+ 2011 201 22 213 2014
Fizcal period ending 27210 28/2M1 25/2M2 2323 221214
£ milions unless stated 04 IFRS 4 IFRS Q4 IFRS 04 IFRS Q4 IFRS

CASH FLOWS

Capital expenditure (tangible) (3,018.0) (3,551.0) (3,708.0) (2,5987.0) (2,881.0)
Sale of fited aszets 1,824.0 1,909.0 1,141.0 1,351.0 570.0
Acguisition of businesses (69.0) (263.0) (114.0) (230.0) (25.0)
Sale of businesses - - - 25.0 §1.0

Interest received - - - - -
Dividends received - - -
Other (614.0) 48.0 (502.0)
Met cagh from investing [1,877.0) (1,859.0) {

(7]
3| 3
[=]

Again, the size of the numbers involved here and their trend is what’s important. By far the biggest
amount of money going out of the business is capex, although this number has come down in the last
couple of years.

You can also see that a lot of money has been coming in to the business from selling assets too
(£6.8bn over the last five years). Retailers like Tesco have sold a lot of their supermarkets and agreed
to rent them back from their new owners (known as a sale and leaseback transaction). This trend
needs to be watched closely as frequent large sales of assets can be a sign of a business that needs
cash as it cannot generate enough cash flow from trading (operating cash flow). More on this subject
in the next chapter.

For the last five years, investing cash flows have seen a net outflow from the business. This is not
unusual but the scale of the outflows and their trends have to be watched. Tesco has £2.85bn of
investing cash outflows in 2014. It needs to pay for that from somewhere. Again, more on this in the
next chapter.
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Net cash from financing

This section shows how Tesco raises new money from lenders and shareholders and what it pays back
to them. There’s often a lot going on here.

o PLC (TSCO)
#=Prev HNext=» 2010 2011 2mz 2013 2014
Fizcal period ending 2TrZna 28/2M 250212 23213 ety
£ milions unless stated Q4 IFRS Q4 IFRS Q4 IFRS Q4 FRS Q4 FRS

CASH FLOWS

Mew =hare issues 167.0 52.0 65.0 57.0 62.0
Share buyback (24.0) (31.0) (303.0) - -
New borrowing 821.0 2,133.0 2,850.0 1,788.0 3,095.0
Repayment of borrowing (3,601.0) (4,153.0) (2, 720.0) (3,022.0) (1,912.0)
Equity dividends paid (963.0) (1,081.0) (1,180.0) (1,184.0) (1,189.0}
Dividends paid to minorities (2.0) (2.0} (3.0} - -
Interest paid (690.0) (814.0) (531.0) (457.0) (496.0)
Other - - (89.0) (4.0} -
Met cash from financing (4,297.0) (3,650.0) (1,897.0) (2,822.0) (440.0%

You can see that Tesco has been raising a lot of new money from loans. Is this to fund investments or
to repay maturing loans? Or is it just short of cash?

We can see that lots of loans have been repaid during the last five years - £15.4bn in total. £10.7bn
has been raised from new loans over the same period. Is this a sign that Tesco doesn’t need as much
money as it did in the past? Perhaps it has decided to raise money from elsewhere such as selling its
stores and renting them back. In fact, this has raised £6.8bn of cash during the last five years.

Hopefully, what you are seeing here is how looking at the numbers gives you lots of questions to ask
about a business. Finding the answers to these questions increases your understanding of a company
and can help make you a better investor.

Also pay attention to large amounts of money raised from issuing new shares. What is the trend in
dividend and interest payments? Is the company buying back its own shares? We can also see that
Tesco’s dividend has been costing it nearly £1.2bn a year. Can it afford to keep paying this?

Interest payments should be compared with the interest charge in the income statement. If there is a
big difference you need to find out why. It may be due to the timing of payments on a bond or
interest being part of a cost of an asset and not being expensed separately.

What's interesting is that financing has been a source of cash outflow in recent years. This is
something that needs to be watched and understood.

Adding everything up - the change in cash balances

If we add together operating, investing and financing cash flows, we get the overall change in the

company’s cash balance.
Tesco PLC (TSCO)

#=Prev  Next=» 2010 2011 2012 2013 2014
Fiscal period ending 2712110 2612111 251212 231213 221214
£ millions unless stated Q4 FRS 04 IFRS 04 IFRS Q4 IFRS Q4 IFRS
Net change in cash (739.0) (628.0) (141.0) 194.0 387.0
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Tesco’s cash balance went up by £387m in 2014 and the preceding three sections told you how. To

find out what this really means for Tesco, we need to get SharePad to analyse its cash flow in greater

detail. You'll see how it does this in the next chapter.

US cash flow statements

At the beginning of this chapter, | mentioned that the cash flow statements of US companies look

slightly different to those of UK companies. Below you can see a cash flow statement for Apple Inc

taken from SharePad.

Apple Inc (AAPL)

4=Prev MNext=» 2010 20N 2012 2013 2014
Fiscal period ending 24/8M10 245911 29/9M2 281913 2Tis4
% milliens unless stated 04 Us-GAAP Q4 US-GAAP Q4 US-GAAP Q4 US-GAAP Q4 US-GAAP
CASH FLOWS

Post-tax profit (Net income) 14,013.0 25,922.0 41,733.0 37,037.0 35,510.0
Depreciation & amortization - 1,814.0 32770 6,757.0 79450
Deferred tax 1,440.0 2.8638.0 4 405.0 1,141.0 2.347.0
Change in working capital 1,236.0 5,757.0 (299.0) 6,473.0 70470
Other (non-cash tems) &7a.0 1,168.0 1,740.0 2,.253.0 2,863.0
Met cash from operations 18,595.0 37 ,529.0 50,856.0 53,666.0 55,713.0
Capital expenditure (2,121.0) (7 452.0) (9, 402.0) (9,076.0) (9,813.0)
Sale of PPE - - - - -
Purchase of investment (57, 793.0) (102,317.0) (151,232.0) (148,489.0) (217 ,128.0)
Sale of investment 45,718.0 69,853.0 112,805.0 124 447.0 208,111.0
Purchase & Sale of business (633.0) (244.0) (350.0) (496.0) (3,765.0)
Other (20.0) (259.0) (48.0) {160.0) 16.0
Met cash from investing (13,854.0) (40,4159.0) (48,227.0) (33,774.0) (22,579.0)
Mew =hare issues 912.0 831.0 665.0 530.0 730.0
Share buyback - - - (&2,860.0) (45,000.0)
MNew borrowing - - - 16,896.0 18,266.0
Repayment of borrowing - - - - -
Equity dividends paid - - (2.438.0) (10,564.0) (11,126.0)
Other 345.0 613.0 125.0 (381.0) (419.0)
Met cash from financing 1,257.0 14440 (1,698.0) (16,379.0) (37,545.0)
Met change in cash 5,953.0 (1,446.0) 931.0 3,913.0 (415.0)
CASH BALANCE
Opening balance 5,.263.0 11,261.0 5,815.0 10,746.0 14, 259.0
Met change in cash 5,.093.0 (1,446.0) 931.0 3513.0 (415.0)
Foreign exchange adjustments - - - - -
Clozing Balance 11,261.0 9.815.0 10,746.0 14 2550 13,8440

The main difference between UK and US cash flow statements comes with how operating cash flow is

calculated. In the UK, the calculation starts with operating profit and works its way down to operating

cash flow.

In the US, the calculation starts with post-tax profit (also known as net income). Most of the

adjustments are similar with the exception of an adjustment for deferred tax (the difference between

tax charged in the income statement and tax actually paid). The main difference is that the US figure

for net cash flow from operating activities is stated after tax and interest payments have been taken

away. The UK figure does not deduct interest payments. This leads to some slight differences when

calculating and interpreting cash flow ratios which will be the subject of the next chapter.
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